ST. IGNATIUS COLLEGE OF EDUCATION

{7 (AUTONOMOUS)
',:" Accredited with "A" Grade by NAAC (Second Cycle)
- Palayamkottai — 627 002

PHYSICAL SCIENCE

1. The movement of the particles is due to the unbalanced bombardment of

the particles by the molecules of dispersion medium.
a) Tyndall b) Brownian c) Rayleigh d) frequency
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2 The atomic number of calciumis

a)20 b)19 c¢)21 d)18
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)20 b)19 c)21 d)18

3. When a body is thrown vertically upwards in space, then at the highest point, the

body has velocity.
a) Minimum b) maximum c) zero d) negative
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4. One light year is

a) 9.46 x 10"m  b) 94.6 x 10°m ¢) 9.46 x 10®° Km  d) 9.46 x 10"°m
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a) 9.46 x 10"m  b) 94.6 x 10°m ¢) 9.46 x 10®° Km  d) 9.46 x 10"°m
5. Mirror equationis

a)lfu + 1/v=1/f b)1/u-1/v=1/f ¢c)1/u+1/f=1/v d)1/m =1/u
+1/v
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/u + IY/v=1f b)1/u-1/v=1/f ¢)1/u+1/ft=1/v d)1/m =1/u +

1/v

6. Blister copper contain _____ of pure copper.
a)9%6 % b)98% ¢)99% d)97%
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7 isalso called as living chemistry.
a) carbon b) oxygen c) nitrogen d)carbon-di-oxide
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8. The distance between the pole and the principal focus is called



a) principal axis (pc) b)focal length (f) c) radius of curvature d)principal focus
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9. isused to scan the inner organs of human body by penetrating very intense
magnetic field.

a)MRI b)CT ¢) ECHO d)Pet
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10. ___ is one of two or more atoms having an equal number of neutrons but different

atomic numbers.
a) Isotone  b)Isobar c) Isotope d)orbit
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11. The IUPAC name of acetylene .
a) Ethane b) propene c) ethylene d) ethyne
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12. A device that reverses the direction of flow of current through a circuit is called a

a) Resistor b) commutator ¢) conductor d) capacitors
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13. . A Lechlanche cell consists of a glass vessel which is filled with __ solution.

a) Ammonium chloride b) ammonium bromide ¢) ammonium nitrate d) ammonium
nitrite
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14. Group 14 belongsto __ family.

a)carbon family b) boron family c)halogen family d)nitrogen family
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15.. The number of elements discovered so far is

a) 116 b)112 c)118 d)114
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a)116  b)l12  c)118 d)114

Ans

Db 2a 3)c 4b 5a 6b 7Za 8b 9a 10a 11d 12b 13)a
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